202141 SiAIet=Cls| L=

O 27Xt 1 2021E 078 08 (=) O & M= LEAR=S

fol
ue

AZE =]

(ADBI2CIXIE2EI=X8H5| 20 J|E A

o >
17:00~21:00|




O X :2021¢ 07€ 092 (2) O & HFE QA= T2
AIZE ]
09:00~10:00 S = (NF 2EA9=54 23)
=2UE |
ULt P& (HH ULt A [ Bt TAE (§O Bt TAE (fo
MiE Al N& A2 Hi& B1 MiE B2
, _ Grazior ) (l=et B) (Ot&zI0t &) (M2l &)
=100 (CIXE E2AXR 1) (ICT =8 1) (ICT &-=8HI) (ICT &-=8H)
ENPSH ENESy ESPSH IHE
SHEE(THEH) LR=(L20H) SLEN(BHAITH) koI 2(BHAICH)
10:50~11:00 Coffee Break
JHElAl (3teziol &) ARl © AHO w4 (H200)
» =01 & LHBIAIN
. . | LE=IEN
R CONBIAL  UHE 20EE SAN XA (BHRLIXLREIXES)
- Bl 2AES SHEIHE (SI=2CIXE2EI=8H))
> EHAA |
. . TR 2A2E B HY
H:80=12:00 oA 2EE DA(DRI)
> P 20TH IS TRA A4 L AR 2Y
FSFSES
12:00~13:00 EAIALAb
13:00~13:30 Coffee Break
ZH2A (12201 B) ANg| : 28s D (FE)
> =FHLA I
13:30~14:00 Z=Hl : Volumetric Video Jl= &gt &Mt
- QGAF: OIRIA 2=4A(NIPA)
==2H ||
Bt TAE [ |(etM=2A RIS | IS =LA RS (1S =2F XI5 | (1M =2A R3] | LBt S I
MiE B3 Hi& C1 M@ c2 Mi& C3 M& c4 MiE D
R~ (rzzior 2) Ol=2t =) Ol=z2t =) (orzI0F B) (orzIo B) (Hel =)
: Y (ICToT-2EI0IE )| (ICT 8-=81V) | (IoT-2HI0IE |) (AI-DICI07 1) (ICT-XR-QI2 1) | (CT-loT-2I2 )
AHEE B PSS AEE EHE AHEE AHA
Les(=2A0) OIE2(ZAM) | S2XLASH) | OIMB(GH) HAON(M2CH) OIS AICH)
14:50~15:00 Coffee Break
=29 |||
Bt s [(HH ULt P& olbF IAE (B |UBF IS/IAE] HICHB| 2Bk ZAF H|CHH
A& A3 MiE A4 Mi& B4 H& D2 Mi& E1
AN £ (Grzzior 2) (l=et B8) (or&2|0t 2) (2l ) (®el &)
15:00~15:50 (ICT &-=28V) (QI2AH] 1) (CIXIE E2-XRII) (loT-Al-212 1) (ICT &-=28VI)
EIPSS B YP EE: AR EE:
2AH(ICTZ2|HHs SUE(=SAA0H) 012k (BHAICH) Z| (=2 H) 22| (HAIH)
15:50~16:00 Coffee Break
=22 IV
T [ ULt A= [ oIt TAE CH oUBF TAE 4
M& A5 N& A6 N4 B5 Ni& 86
ANA A CIEEES) (=2t &) (RS (Hel &)
16:00~16:50 (loT-2IEI0IE 11) (AI-0ICI0N 1) (CIXE E2XAI) (AI-DICIONOIZ | )
AEH NPy IEH EEH
81| Z(2S0H) 01 Z3I(BHAHCH) 2LRIS(HLH) 2 (HASH)
DCS 0IAtE| & HIIES (Stelor &) AE) T 2 (S|0H)
17:00~17:30 » OlAIS]
17:30~18:00 > 322D LU AIOJOKA
18:00~20:00 P ASH2ICHS| 2 Obxt




0]

120214 073 102(E)

O 2Xt

AREC|UR

)

g
FH
A

09:30~10:30

PRI HIOILKRIZ]

H

0
Hi

SH)

&)
I

=1

)

=
=

cIEATH

=y
=

/AR A
HlE E2
(M2l
(IcT
3

3|

S
=

k

—
g

=}
21
(=]

[e]]
=

10:30~11:30






